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(1)2023%923 = (106 x 19 + 9)2923 = 92023(10d19) 72D T, 9D XX FAFHIUL BV TT, 7
L~ —O/NEFA S THERHAEND FORD FONTRNO T, HEICEHFE 5L,

91 9(mod19) 96 9 x 95 = 144 = 11(mod19)
92 9 x 9! = 81 = 5(mod19) 97 9 x 95 =99 = 4(mod19)
93 9 x 92 = 45 = 7(mod19) 98 9 %97 =36 = 17(mod19)
9% 9 x93 = 63 = 6(mod19) 9° 9x98 =153 = 1(mod19)

95 9 x 9% =54 = 16(mod19)
EIRD NLEE 9 THLHZENDIET, Lo T,

92023 — 9224X9+7 — (99)224 X 97 = 97 = 4(mod19)
TY, £o T, 20232983419 THIST2RVITATT,

(2)20231F17 D55 T, 3231317 X 19LFZ KRBT fRTEHD T, IROESL RN AR T
323% kL T202320283 | & R/ EA R OHZENTEET,

{x = 0(mod17) - D
X = 4(mod19) --- @

ZnHd0,
19x = 0(mod17)=x = 17(mod17)
17x = 4(mod19)=x = 17(mod19)
72DT,
19X 17 + 17 x 17 = 612 = 289(mod323)
T, £oT, 202320234323 CHI- 7= 4013289 T,

(3)3611F19?2 L B R B R TEAZLICHEHL T, 18=19-1,20 =194+ 1o, _HEF A
AT T AT ALV ET,
182023 + 202023 — (19 _ )2023 + (19 + 1)2023

2023 2023
— z (2023> 192023—i . (_1)1 + Z (2023) 192023—i . 1i
i i

i=0 i=0
ZZT.i220E%19' = 0(mod361)72D T,

Lt = (2023) 191 - (=1)2022 4 (2023

0.(_112023
2022 2023)19 (=1)

2023 2023
+ (2022) 191 - 12022 4 (2023) 199 - 12923 (mod361)

=2023-19 -1+ 202319+ 1 = 76874 = 342(mod361)
T, Lo, 182023 4 2020232361 CH|>7-401X342T1,
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B Q CHLLAO,1). B — Ry
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x> 0ROT, BHEFRMTT, EoT, o = L2y
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HR = x2+ Q2y)2+J(x—3)2+52 +/(2Qy — 7)2 + 22

= J(x —3)24+(0—(=5)" +/0 -2+ 2y — 0)Z + \/((—2) —0)" +7—2y2
72D T, FRIEA(3,—5) » B(x,0) = C(0,2y) » D(=2,7)Eill o2 bEDESEEZDIENTEET,
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7 — (=5) 12 11

KPSV =X

Y- (=5)=

TN VI SEROT x = =y = =TT, — . #4r ABORSI,
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HR=Jx-22+ 12 +Jx-y?+32+(y—2)? + 12 +/(z— 8)? + 32

%1 THEORBRDIE.
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